
www.E
Tu

S-
La

nd
gr

af.
co

m

55

DDX8019/8029/8029Y/8039

Parts with the exploded numbers larger than 700 are not supplied.

EXPLODED VIEW (PANEL MECHANISM)

3

2

1

HG
G

G

G

Y

H
HY

Kx3

Nx2

Kx3

Jx2

Jx5

Jx5

L

L

M

M

K

K

Y

Y

Nx2

Y

272

257

PM1

224

225

288

228

260

229

255

283

287

286

750

701

304

230

223

G

Gx2

229

259254

283

219

226

256

291
220

289

213

282

282
218

290
221

256

213

741

735

766

G
H
J
K
L
M
N
Y

:
:
:
:
:
:
:
:

N09-6361-05
N09-6363-05
N09-6375-05
N09-6376-05
N09-6377-05
N09-6378-05
N09-6379-05
N19-2321-04

M2x2.5
M1.7x3.7
M2x2.5
M2x3.5
M2x2.5
2x2

M2.6x4
WASHER


